Interception component mm (%) Run 1

Run 2

m storms with Pg insufficient to saturate the canopy (Pg < P(’}) 18.9mm (17.5 %)
Wetting up the canopy with n storms large enough to saturate the canopy (Pg > P(/}) 7.9 mm (7.4 %)
Evaporation from the saturated canopy during rainfall 40.53 mm (37.3 %)
Evaporation after rainfall event 36.9mm (34.1 %)
Evaporation from trunks, saturated and non-saturated conditions 4.2 mm (3.8 %)

25.9 mm (23.9 %)
5.1 mm (4.7 %)
25.6 mm (23.6 %)
47.5 mm (43.8 %)
4.2 mm (3.8 %)




